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Math 9 HW: Chapter 6.1 — Solving Equations Using Inverse Operations

1. Solve each equation by completing the arrow diagram.

a) x+10=15 b) ;‘__4'351\ Ug=2.
) K—4U.R=2Z,
: _\-fﬁ-\:’m] xyr10= 1Y [ ] [(+-1s5) 4P 443
—\o —\o
) () — ( \_]:'[_/ J X=3%.3,
c) 3x=24 e '_’Zl d) ==5 X =
5 < s — -
s R 1) x=der
@Dg] R
e) 2x+5=19 ) Lo2-5

2. Solve each equation.

a) 3.2v-1536 b) —2.6x=9.88
= 1S3y M3 Tre TEL
/ﬁ ‘3 X=-3%,
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) l,6: 9 —55=28
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K = \QSS/
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(D)K. = 2.2 (s2)
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Y‘)r‘v& K = —|y.S\.
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e) 5x-13=17 f) 24x+65=-17.7
43 g Y SRR
XK= 30
-~ - 2 M x==2Y%
X = ! X = -~ \Q//
g Tig-12 h -12-28
5 N 2 R
> 35
A= S -\
4

3. For each Statement below, write then solve an equation to determine the number.

a) Four more than a number is 9.

X+\=A

b) Three times a number is —24.
Br = -2y
X = ’9

d) One-third of a number minus two equals —6.

X 5 =-06

3
2oy §7 *=-12

¥ i =30

Ap’X"’ L~

e) Eight more than half a number is thirty.

+Lx =30
g —

o X =bO

(x=u4 )

f) Five less than four times a number is fifteen.
U -5 = IS
U ="

=+

(<= ")

4. S'Qve\each equation.

a) 4(x+3)=36

wk F\2=36
—\r ~\V

b) —5(x—2)=35.5
—S™Y F\lo= 3\ S
~—S~=28.%

M =2y
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ZPou ¥\
A\ S 2\
c) —2’4(5—),*):]9.2 d) 5.2(—3—y):—30 - 36
3.2 | R\ —
gl — —IS b - S24 =-3O -
12 4 3na = 102 i NN s'z\h - s |
. q—‘\’_'. \"\—Q
4 *\z
=Sz -5s. = “I%y
24 =32
. - =149 -3e
‘\ = \3 P J -S \3 7z
e) 10k —5k—8k=—6+15+12 f -38=5(2y—1)+y
-3¢ -2\ -—3\1=\ﬁ—? +%/
= —'-\’\ =\
=y _»tiy N
@1/
) X, x_2 ®© Ley: h) 2y+7 _ s
273 6 v =6 3
® X _XJar - 23\ =17 )3
%) ~43) (%) AT =)
IK 4 = 25— z\a-\rq—:—‘ﬁ'
SK=2As 7»3 >-S%
K==
=17 Yy
4
Solve each of the following problems and show your work clearly.
5. Vancouver has three times the annual snowfall of Tokyo. Together, they have a total of 80 cm of snow
. What is Tokyo’ | wfall?
ayear at is Tokyo’s annual snowfa YA Bx = YO
Te’\/vs\-, —_ X (_7"" ('\Mv\
Y= ¥O
*x= 20 A

6. Two less than the triple the width of a rectangle is 13. Determine the width.

e

Reloannwas

WMhrm: W —> 3Ww—2 =\3

By =\S

7. One year, Alberta had 301 forest fires more than Manitoba, The total number of forest fires in these

two provinces was 1596. How many forest fires did Manitoba have?

N BRCTA <‘<“"5°\.)

Mpm\ToB N 7
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8. Mindy baked some cookies. She gave 10 to her sister. She then gave half of the remaining cookies to
her brother and was left with 20 cookies. How many cookies did she bake?

s matted SO Leelim

s| o x F =\ __;Dj
— =

9. A vending machine contains a total of 104 coins. It contains twice as many nickels as dimes and 5

\

times as many quarters as dimes. Determine the number of dimes in the vending machine.

Y 4w TSk =Yy
Y =1o\

(=

1 1
10. Mr. Young ate 3 of Mr. Chang'’s chocolates on Monday. Ms. Wu ate EOf Mr. Chang’s chocolate on

the same day. Together they ate 16 chocolates.

a. How many chocolates did Mr. Chang have in beginning?

Wb X BT e NIWESL o Ous oLkt

‘L—_\[(L
\ ~ —= {
\<<§B*’%\ Qg\ ( lox\§
3xve N
S/ A I = 29 -

b. How many chocol¥tés @iVt Thang have after Mr. Young and Ms. Wu fulfilled their craving?
— = 365 = 22 =
4 NMa \4 = Lo
MA W = 1’;\"— =G

M'_ . CAAM A—.—— \ \‘\ (/V\/SL.Q-

11. John earns $180 for a day’s work. That amount is $30 less than 3 times the money Amanda earns for

a day’s work. How much does Amanda earn for a 5 day week?

?Nl\l :\?\‘&b /Okv}_
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